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?_  
1 Jofkfl/s j:t'   

 
1=1 ;'g, rfbL laqm]tf 5000 

 
1=2 lel8of] Sof;]6 /]s8{/ tyf Kn]o/ pTkfbs  2000 

 
1=3 r'/f]6, /S;L   

 
  s_ yf]s laq]mtf 5000 

 
  v_ v'b|f laqm]tf 3000 

 
1=4 xn'sf k]o kbfy{sf] yf]s laqm]tf 2000 

 
2 lgdf{0f ;fdfu|L   

 
  s_ l;d]G6, 58, wft'sf lgdf{0f ;fdfgsf] yf]s laqm]tf 4000 

 
  v_ l;d]G6, 58, wft'sf lgdf{0f ;fdfgsf] v'b|f laqm]tf 3000 

 
  v_ 58, l;d]G6 dfq jf ;f] jfx]s cGo lgdf{0f ;dfu|Lx? 1500 

 
3 sDKo"6/ / ;f]sf ;fdfg cfbL laqmL tyf dd{t k;n 1500 

 
4 ljB't÷;f]nf/ k;n   

 
  s_ lah'nLsf] ;a} ;fdfg yf]s  2000 

 
  v_ lah'nLsf ;a} ;fdfg v'b|f 1500 

 
5 /]l8of], 38L df]jfO{n tyf cGo ljw'lto  ;fdfg laqmL tyf dd{t k;n 1500 

 
6 kmlg{r/sf ;fdfg tyf sfk]{6 k;n 3000 

 
7 k]6«f]lnod kbfy{   

 
  s_ cfon lgudsf] l8n/ eO{ k]6«f]lnod kbfy{ laqmL ug]{  5000 

 
  v_ Uof; tyf v'b|f k\6«f]lnod kbfy{ ljqmL ug{] 1500 

 
8 6]lnlehg k;n   

 
  s_ l6le lk|mh h:tf cGo ljB'tLo ;fdfgsf] k;n 2500 

 
9 vfBfGg ls/fgf k;n   

 
  s_ yf]s laqmL ug]{ k;n 1500 

 
  v_ ;a} ;fdfg /fvL v'b|f ls/fgf ;fdfg laqmL ug]{ 1000 

 
10 kmnk'mn tyf t/sf/L k;n 1000 

 
11 :jb]z, ljb]zL sk8f tyf tof/L kf];fs h'Qf cflb ljls| k;n 1000 

 
12 cGo ;]jf   

 
  s_ Ao"6L kfn{/, s]z >[Ëf/ tyf s]z sf6g] -;}n'g_, 8«fO{ lSng;{, kmf]6f] :6'l8of], l;nfO{ cflb 1500 

 
  v_ Pp6f dfq d]l;g /fvL l;nfO{ ug]{nfO{ 500 

 
  u_ ;fO{g af]8{ jgfpg] k]lG6Ë ;]jf 1500 

 
  3_ kz' jw;fnf 3000 

 
  ª_ df;' ljqm]tf 1000 

 
13 k'n xfp; 2000 

 
14 l;;f KnfO{p8 ljqm]tf 2000 

 
15 efF8fs'8f ljqm]tf 3000 

 
16 l:6n tyf cGo /]l8d]8 kmlg{r/ ljqm]tf 3000 

 



17 v]nf}gf, pkxf/ -luˆ6_ s:d]l6s k;n 1000 
 

18 s]j'n g]6jls{Ë  3000 
 

19 8]/L pBf]u 2000 
 

20 a]s/L tyf lrof slkm ;k 1000 
 

21 ljif]z k/fdz{ tyf cGo Joj;flos ;]jf 2000 
 

22 ;fdfg 9'jgLstf{ sDkgL 2000 
 

23 lgdf{0f Joj;fo   
 

  s_ >]0fLsf]  6000 
 

  v_ >]0fLsf]  5000 
 

  u_ >]0fLsf]  4000 
 

  3_ >]0fLsf]  3000 
 

24 pTkfbgd"ns pBf]u   
 

  s_ Ans, O6\6f tyf Knf:6Ls sf/vfgf -lgdf{0f ;fdfu|L_ 3000 
 

  v_ cGo ;fgf 3/]n' pBf]u 1000 
 

  u_ sn/ Nofa 4000 
 

25 kmlg{r/ pBf]u   
 

  s_ 6«nL ;d]t /fv]sf] ;–ldn 4000 
 

  v_ ;–ldn tyf kmlg{r/ agfpg] pBf]u 3000 
 

  u_ ;fdfGo kmlg{r/ pBf]u 2000 
 

26 phf{d"ns pBf]u -xfO{8«|f]kfj/_   
 

  s_ ! s/f]8;Ddsf] 15000 
 

  v_ ! s/f]8eGbf a9Lsf] 20000 
 

27 s[lif, kz'k+IfL tyf jghGo pBf]u   
 

  s_ krf; nfv eGbf dfly k"hL ePsf] 10000 
 

  v_ krf; nfv ;Ddsf]  5000 
 

  u_ kfFr b]lv kGw| nfv ;Ddsf] 3000 
 

  3_ kfFr nfv ;Ddsf] 2000 
 

28 vlgh pBf]u  4000 
 

29 ko{6g pBf]u    
 

  xf]6n nh - xf]6n nh, xf]6n /]i6'/f_ -cg';"lrsf] JofVof adf]lhd_   
 

  s_ ju{  5000 
 

  v_ ju{ 4000 
 

  u_ ju{ 3000 
 

30 ;]jf pBf]u   
 

  s_ l;g]df xn 5000 
 

  v_ ckm;]6 k|]; 4000 
 

  u_ n]6/ k|]; 4000 
 

  3_ sf]N8 :6f]/ tyf kmf:6 km'8 k;n 3000 
 

  ª_ rnlrq Joj;fo cl8of] lel8of] Sof;]6 3000 
 

  r_ xjfO{ ;]jf a'lsª sfpG6/ 3000 
 

  5_ ;fj{hlgs kl/jxg -a'lsª sfpG6/_ 3000 
 



31 lgdf{0f pBf]u -qm;/ nufot_ 50000 
 

32 ;+rf/ ;]jf -/]l8of] Pkm=Pd=_   
 

  s_ kmf]g, k\mofS;, Od]n, OG6/g]6 tyf kmf]6f]skL ;]jf 1500 
 

  v_ s'l/o/ 1500 
 

  u_ cvaf/ 5kfO{ tyf k|sfzg 1500 
 

  3_ /]l8of] Pkm=Pd= 1500 

 
  ª_ s]]a'n 6]lnlehg 1500 

 
33 kqklqsf, :6]zg/L tyf k':ts k;n 1000 

 
34 ljQLo ;]jf  -zfvf_   

 
34=1 lghL If]qsf cfly{s sf/]jf/ ug]{  s au{sf a}+s 15000 

 
34=2 lghL If]qsf cfly{s sf/]jf/ ug]{  v au{sf a}+s 12000 

 
34=3 lghL If]qsf cfly{s sf/]jf/ ug]{  u au{sf a}+s 10000 

 
34=4 lghL If]qsf cfly{s sf/]jf/ ug]{  3 au{sf a}+s 3000 

 
34=5 ljdf sDkgL -zfvf_ 7000 

 
34=6 ljb]zL d'b|f ;6xL sfpG6/ 2500 

 
34=7 lwtf] kq sf/f]jf/ 3000 

 
34=8 ;xsf/L a}+s 2000 

 
34=9 ;xsf/L ;+:yf   

 
  s_ b; nfveGbf a9L s'n z[o/ k'FhL ePsf] art tyf C0f ;xsf/L ;+:yf 2000 

 
  v_ b; nfv;Dd s'n z]o/ k'FhL ePsf] art tyf C0f ;xsf/L ;+:yf 1000 

 
  u_ art tyf C0f afx]ssf ;xsf/L 500 

 
35 :jf:Yo ;]jf   

 
  s_ u}/ ;/sf/L c:ktfn 4000 

 
  v_ gl;{ª xf]d 4000 

 
  u_ lSnlgs tyf Nofa 3000 

 
36 lzIff ;]jf -lghL If]qaf6 ;+rflnt_   

 
  s_ cfwf/e't 2000 

 
  v_ dflj 4000 

 
  u_ SofDk; 4000 

 
37 tflnd tyf cg';Gwfg s]Gb|   

 
  s_ 6fO{lkª tyf sDKo"6/ OG;LRo"6 / efiff k|lzIf0f 2000 

 
  v_ l;nfO{a'gfO{ tyf cGo ;fgf k|lzIf0f s]Gb| 1500 

 
38 dd{t ;Def/   

 
  s_ x]jL OSo"d]G6;\ a;, 6«s, lhk, sf/, 6\ofS6/ 3000 

 
  s!_ df]6/;fO{sn, 6]Dkf] 1500 

 
  v_ l6=le=, lk|mh, df]6/, k+vf, lx6/ 1500 

 
  v!_ /]l8of], 38L, k|]z/s's/, 6]lnkmf]g :6f]k Uof; r'Nxf] cflb 1500 

 
39 lj1fkg ;]jf 1500 

 
40 a}b]lzs /f]huf/ ;]jf 3000 

 
41 :jb]zL /f]huf/ ;]jf 1500 

 
42 ;]qm]6l/on ;]jf 1500 

 



43 xfphLª sDkgL tyf 3/ hUuf vl/b laqmL 4000 
 

44 cGo Joj;fox?   
 

44=1 kfs{ lkslgs :k6 3000 
 

44=2 6'/ ck/]6/ 1500 
 

45 ljljw Joj;fo   
 

45=1 cf}ifwL k;n 2000 
 

45=2 ef8f k;n 2000 
 

45=3 sk8f, h'Qf tyf km]G;L k;n 2000 
 

45=4 ;fO{sn dd{t tyf laqmL 1000 
 

45=5 d]lzg/L kf6{k'h{ k;n 2500 
 

45=6 kfg k;n 1000 
 

45=7 vfgf tyf gf:tf k;n 2500 
 

45=8 ld7fO{ tyf lrof k;n 1500 
 

45=9 kf]N6«L kz' kmd{÷bfgf l8kf]÷Pu|f]e]6 4000 
 

46 ;Knfo;{   
 

  s_ Ps nfv eGbf a9Lsf] ;fdfg ;KnfO{ ug]{nfO{ . 4000 
 

  v_ Ps nfv;Ddsf] ;fdfg ;KnfO{ ug]{nfO{  3000 
 

  u_ krf; xhf/ ;Ddsf] ;fdfg ;KnfO{ ug]{nfO{ . 1000 
 

47 s]a'n ck/]6/ 4000 
 

48 6]G6 xfp; 2500 
 

49 /f;folgs dn, ljiffbL k;n tyf lap ljhg   
 

49=1 ;xsf/L ;+:yfaf6 500 
 

49=2 cGoaf6 3000 
 

50 ;'lt{ k;n yf]s tyf v'b|f ljqm]tf 2500 
 

51 l8n/lzk -dfly eP afx]s_ 5000 
 

52 7"nf sDkgLsf] ;]N; l8kf] 5000 
 

53 ldn - s'6fgL lk;fgL _ 1500 
 

54 ;+:yf btf{   
 

54=1 gfkmfd'ns 3000 
 

54=2 u}/gfkmf d'ns 1500 
 

55 cGt/fli6«o u}/ ;/sf/L ;+:yf 5000 
 

56 df5f dfg]{ Joj;fo 500 
 

57 dfyL pNn]v ePsf afx]s  cGo 1500 
 

    
 


